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QUESTION 1

A customer is installing a new IBM Storwize V7000 model 524.

What should the customer do to access the management GUI for the first time?
A. Use the USB drive to configure the system

B. Connect to the technician port and use the initialization wizard

C. Connect to the 10 Gb Ethernet port to create the cluster

D. Download and use the Inittool

Correct Answer: A

You can use the management GUI to manage your system as soon as you have completed the USB flash drive
initialization.

Note: Accessing the Storwize V7000 Unified management GUI Procedure

References:http://www.ibm.com/support/knowledgecenter/ST5Q4U/com.ibm.storwize.v700
0.unified.142.doc/ifs_accessmgmtgui_3422yu.html

QUESTION 2

A customer wants to create an IBM SVC Enhanced Stretch Cluster between two data centers.

Which license is required to create this configuration?

A. Spectrum Control

B. Spectrum Virtualize

C. FlashCopy

D. Metro Mirror

Correct Answer: B

The Enhanced Stretched Cluster configuration provides a continuous availability platform, whereby hostaccess is
maintained during the loss of any single failure domain. This availability is accomplished through the inherent
ac_tive_/active architecture of IBM Spectrum Virtualize and SAN Volume Controller along with the use of volume
mirroring.

References: IBM Spectrum Virtualize and SAN Volume Controller Enhanced Stretched Cluster with VMware, page 28

References:http://www.redbooks.ibm.com/redbooks/pdfs/sg248211.pdf

QUESTION 3
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A customer is interested in replacing a NetApp E-series disk array with one that supports auto-tiering between NL-SAS,
SAS, and SSD disk technologies.

Which advantage does the IBM Storwize V7000 model 524 have over the competition?

A. The V7000 relocates data based on current usage.

B. The V7000 predictively relocates data

C. The V7000 uses SSDs for quorum disks.

D. The V7000 relocates the DACstor metadata to SSDs.

Correct Answer: A

Flex System V7000 Storage Node includes IBM System Storage Easy Tier, a function that responds tothe presence of
flash drives in a storage pool that also contains hard disk drives (HDDs). The system automatically and nondisruptively
moves frequently accessed data from HDD MDisks to SSD MDisks, thus placing such data in a faster tier of storage.
EasyTier eliminates manual intervention when assigning highly active data on volumes to faster responding storage. In
this dynamically tiered environment, data movement is seamless to the host application regardless of the storage tier in

which the data resides.

References:https://publib.boulder.ibm.com/infocenter/flexsys/information/index.jsp?topic=_
Fcom.ibm.acc.4939.doc_Fsvc_easy_tier.html

QUESTION 4

Which tool is used to report usable capacity for IBM Storwize disk subsystems?
A. Batch Magic

B. Disk Magic

C. STAT

D. Capacity Magic

Correct Answer: D

IBM Capacity Magic is an easy-to-use tool that runs on a PC, requires a minimum of input, and calculates the physical
and effective capacity of the IBM System Storage Systems,including Storwize V7000.

QUESTION 5

A customer has several large disk systems serving up block data over Fibre Channel that are of varying degree of
utilization and needs to constrain growth and manage performance. The disk systems are made by EMC, Huawei, Bull,
and IBM.

Which IBM software solution should be discussed?

A. IBM Spectrum Control Base Edition
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B. IBM Virtual Storage Center for Storwize

C. IBM Cloud Object Storage

D. IBM Spectrum Scale

Correct Answer: B

IBM VirtualStorage Center for Storwize provides a lower-cost alternative to Fibre Channel- based
replication that is easily configurable in existing IP infrastructures, eliminating the need for FCIP routers
and dark fibre.

SAN Volume Controller can virtualize IBM andnon-IBM storage (over 170 systems from IBM, EMC, HP,
HDS, Sun, Dell, NetApp, Fujitsu, NEC, Bull)

References: IBM Storwize Family Software, (SVC and Storwize), Product Roadmap, page 4 https://

www.ibm.com/developerworks/community/files/form/anonymous/api/library/c18c45e
6-e212-4b38-a28e6c74534ba5e2/document/4555d51c-465b-4093-bb06- ca70861e2e3e/media
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